1.2 Practice Problems

Translate the verbal phrase into an expression.
1) 8 more than a numberx 2) 50 divided by a numbery

X +%8 -1
3) The quotient of twice a numbertand12 4)5 more than 3 timesa numberw
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Write an expression for the situation.
5) Number of tokens neededfor | 6) Amountyouspendif youbuy [ 7) Numberof monthsin y years
vvideo gamesif each game takes | ashirt for$20 and jeansforj
4 tokens. dollars
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Find the unit rate ip feet persecond.

180 miles . ] h: B
8 2 hours 60 m“\ '.1-!-“—-:\- .ﬂc" — %d"w

Describe and correct the error in the units.

Peer concelled shald ‘pstbe F5Y,

Write an equation or an inequality

10) The sum of 42 and a number | 11) The sum of12 and the 12) The sum of a numberb and
nis equal to 51. quantity 8 timesa numberkis 3is greaterthan 8 and less than
equalto48 12
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13) Write an inequality for the price p (in dollars) described.
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Describe and correct the error in writing the verbal sentence as an equation or an inequaliy.

14) The quotientof a numbertand 4.2 is at most15.
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Check whetherthe given numberis a solution of the equation or inequality.

15)9+4y=17;1 T
q+q‘|)"; 16)5—4—4,12
9+ 4= 17 r
1 3=? 3°9=4
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17)y—3.5<6;9 18)4z-5<3; 2
q-2526 -5 <
£.6 ¢ €-5<3
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Solve the equation using mental math.
19) y+16=25 20) 8b=72
9 H1e=as (D=2
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